ﬂl % @ A Phép cong 1én dén 100 (hang ngang)

Tén:__ Ngaythang:_ Piém:__
60 + 85 = 82 + 88 =
92 + 98 = 7+90 =
37426 = 88 + 69 =
98+ 17 = 6+49 =
57+ 68 = 100 + 50 =
61 +82 = 95+ 50 =
38+34= 39+ 61 =
71+ 8= 88+ 5 =
75+ 54 = 85+55=
50+ 80 = 95+ 76 =
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Phép cong 1én dén 100 (hang ngang)

Tén:

60 + 85 = 145

92 +98 = 190

37+26=63

98 +17 =115

57+68 =125

61 +82 =143

38+34 =72

71+8=79

75+54 =129

50+ 80 = 130

Ngay thang: Piém:

82+ 88 =170

7+90=97

88+ 69 =157

6+49 =55

100 + 50 = 150

95 +50 = 145

39+ 61 =100

88 +5=93

85+ 55 =140

95+76 =171
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